BHAVANS SCHOLARSHIP-2020-21 CLASS IV
QUESTION OPTION 1 OPTION_2 OPTION_3 OPTION 4 ANSWER
R K Narayan
OPTION_
1|Who is the author of 'Be Prepared'? Ruskin Bond Swapna Dutta Amitav Ghosh |2
SO
OPTION_
2|She told me interesting story. an a or 2
have
OPTION_
3|He done his homework. are was has 4
him
OPTION_
4|My sister loves books. This novel is for : us mine her 4
Find two words, one from each group, that are the closest in meaning. talkative and wind
Group A: talkative, job, ecstatic talkative and ecstatic and OPTION _
5|Group B: angry, wind, loquacious job and angry loquacious angry 3
Choose the correct word. aloud alloud allowed alowed OPTION _
6 You are to come in. 3
- but
Fill in the blanks OPTION _
7|He is working hard his exams begin tomorrow. that because SO 3
180
OPTION_
8|2 hours = seconds 720 7200 3600|3




chord

OPTION_
9|Every point on a circle is at the same distance from the centre diameter radius 2
750 g
OPTION_
10{% of a KG = grams 500g 250g 450g 1
17 cm
OPTION_
11|If the diameter of a circle is 14cm, then the length of its radius is 28 cm 7 cm 4 cm 3
The difference between the greatest and the smallest number formed by using 3265 OPTION_
12|the digits 5, 0, 3 and 2 is 2835 8325 3852|1
7400
OPTION_
13|If 7246 is rounded off to the nearest hundreds, we get 7000 7240 7200(4
0 OPTION_
14|Which of the following has 2, 3 and 5 as factors? 10 15 30|14
1000
OPTION_
15(1000 + 10 +10="7 100 10 1(3
z-y=125
OPTION_
16/The sum of zand y = 125. If y =45, which equation can be used to find z? z+y=45 z-45 =125 z+45=125 4
graphite OPTION_
17|What is used as lead in pencils? granite marble chalk 1
tadpole
OPTION_
18|The young one of a cockroach is known as nymph caterpillar fry 2




cementum

OPTION_
19(The sticky yellow coating formed on tooth due the attack of germs is cavity plaque plague 3
The type of adaptation by which animals change their body colour accordingto  |[camouflage hebetation aestivation hebenon OPTION_
20 the colour of their surroundings is 1
potato
OPTION_
21|Which one, among the following is an oil seed? ground nut coffee tea 2
_ o _ chlorophyll
In the presence of sunlight, green leaves change carbon dioxide and water into OPTION_
22 glucose protein stomata 1
leaves
OPTION_
23|A cactus plant makes food in its flowers stem roots 3
proteins
OPTION_
24(Nutrients that give us energy are called vitamins minerals carbohydrates |4
size
OPTION_
25|A matter can change its state depending on temperature colour shape 2
marshy areas
OPTION_
26|Mangroves grow in deserts hills sandy areas 1
sugar cane
OPTION_
27|Which of the following is not a food crop? wheat millets rice 1
Sahyadri Hills
OPTION_
28|Where do the Western and Eastern Ghats meet? Karakoram Hills Purvachal Hills Nilgiri Hills 4




Aluminium

OPTION_
29(Which mineral is known as 'Back Gold'? Granite Petroleum Iron 3
Choose from the options common snake found in the Thar Desert. Viper Indian Cobra Sand Boa Krait OPTION _
3
30
Ladakh
OPTION_
31|Which of the following is not a Union Territory Chandigarh Jammu & Kashmir |Sikkim 4
second
OPTION_
32|In terms of area, India is the largest country in the world. fifth seventh eighth 3
Mac Mohan Line
OPTION_
33|{The boundary between India and Pakistan is called Radcliffe Line Palk Strait Durand Line 2
Bay of Bengal
Ten Degree OPTION_
34|The Andaman Islands are separated from the Nicobar Islands by the Arabian Sea Indian Ocean Channel 4
Rajiv Gandhi Khel
Ratna Dronacharya Dhyan Chand OPTION_
35|Which is India's highest sports award? Arjuna Award Award award 1
11 June
OPTION_
36|When is the International Yoga Day celebrated? 21 July 11 July 21 June 4
Euro
OPTION_
37|Currency of Germany is Ruble Yen Won 1
Astrolo
i OPTION_
38| The study of outer space is called Astronomy Cosmonomy Hydrology 2




humming bird

OPTION_
39|Which bird is the international symbol of peace? dove Kiwi mynah 2
cricketer
badminton OPTION_
40({Who makes moves while being seated? chess player the fisherman player 2
a pit
OPTION_
41|(The more you take out of it, the bigger it becomes. What is it? Soil clay turf 1
If you rearrange the letters 'BARBIT' you would have the name of a / eeean OPTION_
42]an country animal fruit 3
20
OPTION_
43|If you count from 1 to 100, how many 7's will you pass on the way? 10 19 1111
Look at the series 20, 15, 20, 17, 20, . Which number should come 20 OPTION _
44(next? 19 21 22|2
HSS
OPTION_
45/DNN, FPP, HRR, , LVV HTT JTT JUU 3
Which one of the five makes the best comparison? 31311313 33113311 31131133 31313113|OPTION _
46 CAACCAC is to 3113313 as CACAACAC is to 1
JULY
OPTION_
47|Find the odd one out. JUNE  JULY MARCH AUGUST MAY AUGUST MARCH JUNE 4
Some letters are numbered, 1 2 3 4 and 5. Find the right combination of numbers {1524 3 12354 32451 31254 OPTION _
so that when the letters are rearranged they form a meaningful word 4

48
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10 roosters and 6

There are 4 more roosters than ducks on a farm. The total number of the legs of ducks 9 roosters and 4 10 ducks and 6 OPTION _
49|the roosters and ducks is equal to 44. How many roosters and ducks are there? ducks roosters none of these 1
ice
OPTION_
50|Melt : Liquid :: Freeze: ? solid condense gas 2
The hollow leaves of this plant are filled with nectar. When insects come to drink |lotus pitcher plant venus flytrap water hyacinth [OPTION_
51 this nectar, the lid closes and they are slowly digested by the plant. This plant is 2
the
Tripura
OPTION_
52|Which state is not among the Seven Sisters? Nagaland Sikkim Meghalay 3
solids and gases o
solid, liquid and OPTION _
53|Which of the following have definite volume? gases liquid only solid and liquid |4
clayey OPTION_
54|Which type of soil is best for growing plants? sandy loam alluvial 3
diamond, topaz,
garnet OPTION_
55|Examples of precious stones are ruby, garnet ruby, emerald all of the above |3




